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MATHEMATICS SSC-I
SECTION - A (Marks 15)

—~.
10

| 2045

‘hﬂu“"o.r‘. . - .
‘ . Roll No. ]‘ l | l | Answer Sheet No.

Time aliowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not alowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) In an ordered pair (a,b), ais called

A. Co-ordinate B. Ordinate C. Abscissa D. Quadrant
(i) Point (1-2)lies in the ___quadrant.

A. l B. It C. I} D. v
(i) 5752{5)(1::\2’/—5 shows property.

A Additive Inverse B. Multiplicative Inverse

C. Additive !dentity D. Multiplicative identity
(iv)  axs"=

A 4 B. 5 C. 1 D. 20
V) The standard form of 8.24x10 %is

A 0.00824 B. 00824 C. 0.000824 D. 0.824

(vi The characteristic of l1og19is

A 0 B. 10 C. 2 D. 1
(i)  a°-p3=(a-b) (———)
A a2+ ab-b2 B. a2 —ab- b2 C. 32 +ab+ 132 D. a2 - ab+ b2

(vii) It x+1is a factor of x2+3x+m , then m=
A -1 B -2 C. 2 D. i

{ix) The order of matrix [3 2] is

A 2x1 B. 2x2 C. 1x2 D. 1x1
) If matrix [(i ij is singular. then x=

A 3 B. 6 C 4 D. 0
(x)  If a=b, b=c.then a=cis called

A Postulate B. Axiom C. Given D. To prove
(xii) A triangle is said to be a/an triangle if its three sides are of equal length.

A Isosceles B. Equilateral C. Obtuse D. Acute
{xiii) From two points . line(s) can be drawn.

A Two B Three C. One D. Infinite
(xiv)  There are acute angle(s) in an acute triangle. '

A One B. Two C. Three D. Four
{xv) AB stands for

A. AB 8, AB C. AB D. mAB

For Examiner’'s use only:

——
Total Marks: F15 ‘
Marks Obtained: \___]
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Sig of Candidate:

Sig: of Invigilator:

....................................................................................................................................................................................

(15 :mad J8) J5) ~a &ida 20 :
5 55 0m il S8 s g Sile puy s 08 el S Gla o (2 0 2 SlIsn S el b e Y JB s G
o yian Juaaod S Juudy B cpd Sla (8 g8 0l S S ila L 8 Nga

.:hM‘Jﬁj‘uJ}x-w@ﬂ}‘dd;é%!ﬁmJl:aw-\LGELTI‘LBM hw\uaqcagc__m'l_}u.adly
¢ 2 UNS €A Uw (ab) elsx s (i)

&0 3 L) 'z S )l g Glaase ol
WEgh e aa) S (1-2) A8 (i)

v 3 11 -z 1 e Il
for S Lk S st S 5, 0B (i)

paie 3 o pm B e G e Sl e S
axsl=— (iv)

20 2 1 g 5 u 4 sl
b e ad i gl (S 8241074 (V)

0.824 ) 0.000824 'z 0.0824 = 0.00824 sl
A A 1S o 10 (vi)

1 2 2 'z 10 e 0 <l
a° b3 =(a-by (————)  (vii)

2% ab+ b 3 2% +ab + b 2 a’ ab pn° & aleab-b? ol
m= S i s S x2y3xm ¢ xe1 S (vil)

1 2 2 -z -2 e -1l
A ~MipeB 3 2]l (ix)

1x1 2 1x2 T 2x2 o 2x1 4l
e sawss P8 w

0 1 4 .z 6 e 30l
A Js=bace S b=c s a=b A (i)

3 s e pste a A laie e grnge ol
2 ..-;JMJM . Uzt Jilaie sl 30l (5l S Ges Gllesy  (xii)

NPERVERIN ‘5 JURRV AN 7 F Yl e SUTR UL P ORI
fon B ln oahiS a8 e B 9 (i)

2 gaaat 2 S NG b - 3l
P S dand (S gyl oda e dilis gl joda € (xiV)

BiE 1 O z 5 o Sab Gl
e e AB O (xv)

mAB 2 A8 'z AB g AB <l

sl 038 Jeala 15 s i K s0akan

— 1SA 1306 {L) —



MATHEMATICS SSC-I|

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTION ~ B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks. {(12x3=136)
Q) Find the values of x and y, if (x~1,y+2)=(2x+4,-4)
(ii) fU = {(1234.......... 10}, A ={2.4,6810} and B = {2357} then find (A~ B)°
(i) If x=vZ-1 then find the value of x*+
X

‘ m\m«m# {n n+l-m [ i+m-n
(iv) Simplify 1‘—J . X] . L} L x#0

Ll Ux! Lxm
(v) Convert the wavelength 4.5x10°cm of biue light into metres and write in standard form.

(vi) If log 2= 0.3010, log 3= 0.4771, log 5= 0.6990, then find the value of log~/18
(vif) Evaluate with the help of logarithm 2381+3072

2

(vili) Find the value of a2+5%+c3_3abc when 32 + b2 +¢" =26 ; ab+bc+ac=5

| P22
(ix)  Prove that x+-—} I LY

X X

(x) Find L.C.M by factorization b3 | atopt, &80

(xi) Onre algebraic expression is x3—x? 1 2x -2 and the other is X - x? _2x+2 Iftheir HC.Fis x-1,
then find their L.C.M.

a2 +ab+b2 N a2 —abﬁ+7b’2”

(xii) Simplify T ah
. 1P 1
(xiii) Find square root of[a—— ! —4:a+—+8 where a=0
al “"al
(xiv) IfA=’7_1 2} : B:LB ‘2} then find AB.
‘-3 4 -1 4

(xv) A= [ 73 ;J then find A™". Also prove that A™'A=I
{xvi)  Solve by Cramer's rule 3x-B8y-~2=0 ; x+5y=-5
il 1 1
2*.(27).(60)2
1 1 1

(180)2.(4)% .(9)*

{xvii)  Simplify

(xviiiy  Construct AABC in which m£A = 75°  mzB = 30° and AB = 4.5¢m

SECTION - C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3  Prove that if two lines intersect each other, then the vertical angles are congruent.
Q.4  Prove that if in a given correspondence of two triangles, the three sides of one triangle are congruent
to the corresponding three sides of the other triangle, then the triangles are congruent (S5.5.528.5.§).

Q.5 Prove that a quadrilateral having two opposite sides parallel and congruent is a parallelogram.

Q.6 Draw angle bisectors of APQR in which PR =53cm, msP = 30%and mzR = 60°

——18A 1308 (L) —
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MATHEMATICS SSC-l
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. Ali parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

Additive

None of these

3x10*

1000

None of these

Unit

None of these

None of these

Base

Four

(i) If (x=2, 1) = (=3, 1} then the value of X is

A -5 B. 1 C. 5 D.
(i) x.y.zeRand x=yand y=z=x=zis___ Property.

A Reflexive B. Symmetric C. Transitive D.
(i) If x=432, then m%=

A 2.3 B. 4 C. -2./3 D.
(iv) The speed of light is cm per second.

A. 3x10° B. 3x10° C. 3x10™ D.
(v) The standard form of 2.35x107 is

A 500 B. 0.0235 C. 700 D.
(vi) If x+y=2 and xy=3 then the value of x*+y*=

A 4 B. -2 C. —4 D.
(vii) For what value of m, X*+4x+m will be a complete square?

A 8 B. -8 C. 4 D.
(viil) [ﬂn 2=

A 23] B F 6! c I 1 D.

4 0, 1 2| 6 3

(ix) [5 g] is a matrix.

A Singular B. Zero C. Scalar D.
(x) The factorization of x’~5x+6 is

A (x=2)(x+3)} B. (Xx—3)(x+2) C. (x=2)(x-3) D.
(xi) In an isosceles triangle side(s) is/are congruent.

A Two B. Three C. One D.
(i) The line segment joining a vertex of the triangle to the midpoint of the side opposite to that vertex

is called of the triangle.

A Angle B. Altitude C Median D.
(xiiy  The diagonals of a parallelogram each other.

A Bisect B. Bisect at right angle

C. Are congruent to D. None of these
(xiv) In any triangle there can be right angle(s).

A. One B.  Two C. Three D.
(xv) The angles of measures 50° and 1307 are called angles.

A Complementary B. Supplementary C. Adjacent D.

For Examiner’s use only:
Total Marks:

Marks Obtained:
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MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separateiy
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B {Marks 36}

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i} If A={-2.0.2}andB={-1,0,~2} then write a binary relations for R in Ax B, when R = Wx.y)/ xeAnyeBnysx}
(i) IfU = {x/xeZnl<x=10}, A ={24,68,10} , B={2357! then find (aAuB)°

Coa 2350
164 a°b
(iii) Simplify 328 2
V21654
. = = 1 4 1
(iv) Ifa=+v3-v2, thenevaluate a-- anda + —
a a%
. ( 2m VP [YZn j”" ¢ x21 f=m
Il (o
(v) impilify m - | = L i xX=0
(vi) Iflog 2= 0.3010, log 3= 0.4771, log 5= 0.6990, then find the value of log %
(viiy  Evaluate with the help of logarithm ¥4.872

(vii)  Ifa=1, b=1. c=3 then find the value of 332+%b3+%cs 16

(ix) If x-5 is a factor of polynomial Bx° — 5x° —16x + m, then find the value of 'm’ by Remainder theorem.
(x) Find the value of a’ + b* and abwhena+b=5anda-b=3

(xi) Factorize 2x5y - 32 xy5

(xii) Factorize a*-2a’b+2ab’-b*

(xiti) Find H.F.C by factorization 12 —m” . I —m4.16 —n®

(xiv)  Provethat H* + L> = A’ + B* where H+L = A+B. In it H and L stand for H.C F and L.C.M respectively,

and A B represent two polynomials.

2l
(xv) Simplify 2»53 14 a+3
“3a-1g a-2

7 "a57
i) If [1 SJH{%, then find the values of p and q.

3 pll7] |10]
(xvii)  Find the vatue of 'a’ when A = [2? ;qand Al =16
(xvili}  Use matrices to solve the linear equations: 3y =3-4y 1 2y=x+ %
SECTION - C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3 Prove that an exterior angle of a triangle is greater in measure than either of its opposite interior angles.

Q.4  Prove that the sum of the measures of the three angles of a triangle is 180° .

Q.5 Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
Q.6 Draw right bisectors of the sides of AABC in which m..A=75°, m.B=30° and AB=5cm
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